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AJITEBPAJIBIK TYPAE BEPUITEH
KBAJIPAT TEHJIE YJIEP/IIH
KOMILIEKC TYBIPJIEPIH TABY




OKY MAKCATTAPBI

e 12.2.2.1 kBazgpar TEHACYIECPA1H KOMILUICKC TYO1pJIEpIH Ta0y;

o 12.2.2.2 xoraphl Jopexkeni KapamainbiM Teraeyaid (x" = a,
x < 4) xomIuIekc TyOipaepiH Tadadbl;



=

BAFAJIAY KPUTEPUUIEPI

* KOMILIEKC TYO1piaep1 Oap KBaapar TeHACYIepAl IICIICI].



=

2
Erep X =C
Onga X = \/E HEMECE X = —\/E

K€3 KEeJIT€H HAKThI ¢ CaHbl YIIIH

MBICAJI1 x =40




= MbICAA 2

5x° =2 =-62




= (ax b)2 =C

Mpbicaa 3: (x+3)2 ~16
X+3=%2+16
x+3=14

X=-3F+4=x=—"rewee Xx =1



E MbICAA 4.

7+25(2x+3)220
5(2x+3) =-7 2x+3)

2x+3= +1/ +—1

—7
25




3X° +7x+10=4

LICAJT 5: KBAAPATTBIK TEHJIE VAIH TOJIBIK

KBA/IPATBIH bOJIY

!/ 49 49 6
X2 +2-—X+

6~ 36 36 3




Exercisel  Solve these
+2x+S5=0

4+ 4x+29=0

§ x2—-6x+18=0
7 x2-6x+11=0
9 x2+5x+25=0

2l x°—-2¢x+10=0
4 x*+ 10x + 26 =0
6 x°+4x+7=0

8 x2-2x+25=0

Jeckpunropnap:

v’ Ksajpar TeHaeynepi ety alropuTMiH KOJIAaHa bl
v Tenueynin KOMILIEKC TYOipiepid Tabaisr,

v' JKayaOba a+bi Typinge sxa3zasl;




AKAYAIITAPDI:

l.x=—1=x21
2.x=1=31
3.x=—2+5
d.x=—5=1
§.x=3=x 31

6..\°=—2‘:i\[§
7.x=3+i42
8.x=1=iV6
41\/'

5
90 A=
2




XEKE XX¥MbIC

Solve the following quadratic equations without using the discriminant.
i. z°+4iz—-13=0
i. z*—6iz—10=0

[—

Solve the following equations.
i. z2—z—1+3i=20
i. z24+iz—(2—6i)=0

i, z2—iz— (1 +i) =0

Solve the following equations.

. z2-(1-4i)z-(5-i)=0

i. z22-B+)z+Q2+01)=0




YU ' K¥YMBICBHI

Solve the following quadratics with complex numbers: Solve the following equations.
2. 8x2-4x+5=0 iz2 —3z4+4i =0
3z2°-3z—-1=0
4, =x2+4x-5=10 > z
22+ (2-0)z-2i=0

6. 5x2+12x+8=0

8. 2x¢-6x+7=0

10. 5x2+8x=-4



PE®JIEKCUA BOSJITIMI
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